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20 x 482 = 9640 43 x 482 = 20726
21 x 482 = 10122 44 x 482 = 21208
22 x 482 = 10604 45 x 482 = 21690

0 x 482 =0 23 x 482 = 11086 46 x 482 = 22172

1 x 482 = 482 24 x 482 = 11568 47 x 482 = 22654

2 X 482 = 964 25 x 482 = 12050 48 x 482 = 23136

3 X 482 = 1446 26 x 482 = 12532 49 x 482 = 23618

4 x 482 = 1928 27 x 482 = 13014 50 x 482 = 24100

5 x 482 = 2410 28 Xx 482 = 13496

6 x 482 = 2892 29 x 482 = 13978

7 X 482 = 3374 30 x 482 = 14460

8 x 482 = 3856 31 x 482 = 14942

9 x 482 = 4338 32 x 482 = 15424

10 x 482 = 4820 33 x 482 = 15906

11 x 482 = 5302 34 x 482 = 16388

12 x 482 = 5784 35 x 482 = 16870

13 x 482 = 6266 36 x 482 = 17352

14 x 482 = 6748 37 x 482 = 17834

15 x 482 = 7230 38 x 482 = 18316

16 x 482 = 7712 39 x 482 = 18798

17 x 482 = 8194 40 x 482 = 19280

18 x 482 = 8676 41 x 482 = 19762

19 x 482 = 9158 42 x 482 = 20244
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